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' The approximate value of 'e' is:
a) 0 b) 2.718 a) 0
c) 3.14 d) 10 c) 3.14
2 The logarithm of unity to any base is:
a) 1 b) 10 a) 1
c) e d) 0 c) e
3 In log,64 = 2, the value of x is:
a) 64 b) 2 a) 64
c) 647 d) 8 c) 642
4 The characteristics of 5.79:
a) 0 b) 1 a) 0
c) -1 d) -2 c) -1
> Antilogarithm table was prepared by -.....:
a) John Napier b) Henry Briggs a) Uz
c) Jobst Burgi  d) Arthur Cayley ) (0%
® If & = n then:
a) a=logn b) x=log,a a) a=logn
c) x=logn d) a=logx ¢) x=logn
7 Scientific Notation of 0.0643 i :
a) 6.43x102  b) 64.3x10% a) 6.43 x 1072
c) 643x10% d) 6.43%10* c) 64.3x 104
® logm" can be written as:
a) (log my’ b) mlogn a) (log m)"
c¢) nlogm d) log (mn) c) nlogm
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